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P.1 Graphs and Models

Multiple Choice
Identify the choice that best completes the statement or answers the question.
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1. Which of the following is the correct graph of ¥y = =~/ 2 — x* 2
a. e d.
5
4
3
o}
-
X X
5-4-3-2\19 112 3 4 5 54820 1 2N\ 45
an:d .24
& 3]
4 4
-5 -5
b. , c. AY
EJL} 5+
44 4]
31 3
2- 2+
- 1
X X
EEELBEER T P EEEYTRECEE]
au |
o, 3
4 4
-5 5-
C AY
5
4]
3_
2
1
X
£ i1y

© 2014 Cengage Learning. All Rights Reserved. May not be copied, scanned, or duplicated, in whole or in part, except for use as permitted in a license distributed
with a certain product or service or otherwise on a password-protected website for classroom use.



2 Chapter P: Preparation for Calculus

3

2. Which of the following is the correct graph of ¥ = x—x7?
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3. Find all intercepts:
¥= xl-x-12

x-intercepts: (4,0), (~3,0); y-intercepts: (0, 4), (0, 3)
x-intercept: (12, 0); y-intercepts: (0, 4), (0, 3)
x-intercepts: (4, 0), (—3,0); y-intercept: (0, —12)
x-intercepts: (4, 0), (—=3,0); y-intercepts: (0, —12), (0, 12)
x-intercept: (=3, 0); y-intercept: (0, —12)
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4, Find all intercepts:

¥=[{x+ 5]*\!'4—2:2

a. x-intercepts: (-5, 0), (-2, 0), (2, 0); y-intercepts: (0, 0), (0, 10)

b. x-intercepts: (-5, 0), (2, 0); y-intercept: (0, 10)

c. x-intercepts: (-5, 0), (2, 0); y-intercept: (0, —10)

d. x-intercepts: (-5, 0), (-2, 0), (2, 0); y-intercept: (0, 10)

e. x-intercepts: (-5, 0), (-2, 0), (2, 0); y-intercept: (0, —10)

- Test for symmetry with respect to each axis and to the origin.
x2y2 =3

a. symmetric with respect to the origin
b. symmetric with respect to the x-axis
¢. symmetric with respect to the y-axis
d. no symmetry

e. A,B,andC

symmetric with respect to the origin
symmetric with respect to the y-axis
symmetric with respect to the x-axis
both B and C
no symmetry
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6. Test for symmetry with respect to each axis and to the origin.

P.1 Graphs and Models

3

© 2014 Cengage Learning. All Rights Reserved. May not be copied, scanned, or duplicated, in whole or in part, except for use as permitted in a license distributed
with a certain product or service or otherwise on a password-protected website for classroom use.



